Tekst 10 Star power

1p 32 Which of the following fits the gap in paragraph 1?
A appeared to underestimate
B failed to address
C managed to reinforce
D seemed to deflect

1p 33 What is the main function of paragraph 2?

A toillustrate the differences between the various celebrity homeware
ranges

B to make clear that many celebrities have put their names on a
homeware range

Cc toridicule celebrities who have tried to design their own homeware
range

D to stress that most of the celebrity homeware ranges are overpriced
and of low quality

1p 34 Which of the following fits the gap in paragraph 2?
A all the same
B from now on
C under the circumstances
D what’s more

1p 35 What is the example of Kate Moss in paragraph 3 meant to make clear?
A People are easily fooled by outward appearances.
B People like spending money on glamour and luxury.
Cc People should stick to their own area of expertise.
D People tend to overestimate the value of good design.
E People with proper qualifications are often overlooked.

“To do anything properly, you have to do it with integrity.” (alinea 4)

1p 36 Welke beroemdheid wordt als goed voorbeeld hiervan genoemd door de
schrijfster?
Noteer de naam van deze persoon.
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